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


 
 

1 R V––

2 RsŔ––

3-RRsR– R–R
4–– 

5––

6–2

7

8R
R-R 4–R–R 2

9Ω1–

10––

11 Rs––
12υc/υh2c/υhυh 
13–– 

14––

15––

163:23:12:11∞
17––

18––

19RgRm––

20RgRs––

21––

22RgRs––

23RgRm––
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A22R24  6 
30200Ω

⅓ 
    300-   400-600

31

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 
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35 
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20132014
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40
˚45 

41 
 

42 
 
 

43 
 

44 
 

45 
 

46 
λhCP 

47λυ

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
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48
 

49I
R3R
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I 

5080%200500
100 volt
Vsv200v250 

51–.060.60.10.010 
52

 
53 

 
54 
 

55
 
56
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57
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58
 

59–– 
60––
61
 
 

62
 
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12θSinωNBA=emf

 3-PL\hλ4 C\Pw2=F 
5Ir–VB=V63R +2R +1R=  R 
7BIL-=F8BLV=emf 
9θBIAN Sinτ 


 

a
b
c
d 

e

i 

ii 
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iii 

f

g

hM

iL )

j

k

l

m

n

o

p

qX

r

s 


 
1s10C20 
2J 30C15
3V.51
4m  Ω6-10x3
5 T0.2
61-Nm T4
730
810
9 Ω100

10Ω3
11 H0.3
12 H0.3

13 A2.5
14 %80
15 Hz50
16J19-10x.65
17A°5000
18emf
1-SA1V.50 
19Ω10
205kº

 
1 
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18


 
1 
2
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3
4
5
6
7
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101112 
131415 
 

}{1 
2
3
4
5
 



20132014

01285293228 32


 

1 - 
2 -
3 -emf
4 -
5 -
6 -
7 -
8 -U
9 -Qth

10 -


 
1 
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18

19
20

 
1A1

  1AA22Ar =1ΩR 
9Ω -  12V 

 

22Ω 
 
KK 
0.25A -1.5V – 0.2A -1.2V 
 
3 

 
 6A – 72V 

 

42004A 
10Cm3.5Cm0.002 wb\ Am 

0.01s 
emf1000001.54x105 V 
385H 

540Ω
15A120V5 

610Ω50Ω 
0.6A 
4950Ω 

5V -  500V 
7λ 

1.6x10-19J 
\ 2λ6.4x10-19J 
3.22x10-19J 
 



20132014

01285293228 33

814610A° 
 40594A° 

910Cm2A3A
 

10Cm5A 
4Cm -  10-5 N 
10

 
 
 
 

110.1Ω20mA 
11A210V 

 0.002Ω -   499.9Ω 
12emf200V 

emf 

30°
60°
0.001s100V-200V-100V-100V-0 

13220V 
 6V0.4A12V0.35A 
1100 
30 – 60 

0.03A 
14X40KV5mA 

X3.1x10-11  m 
3.125x1016e
200 J
X1%2 J

 
 
 
 
 
 
 
 
 

 

16 
 
 

 

17 

 
 


0.05m20.5T
emf) maxN 

 

40 35 25 20 X10 5emf) max 
Y700 500 400 300 200 100 N

1emf) maxN 
2XY 

ω 
-2rad\s800 15V – 

emf)
0.125m2200 

0-22-2.4-220 22 31.4 22 0 emf  v 
017.51512.510 7.552.50 t   ms

 
1 
2

 


emf60°

 31.4V -  50Hz - 4x10-3T – 15.7V 

15



20132014

01285293228 34

 
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 

23.6 18149.25.63.6mv2x10-20J

36.5405440500545575x10-9 mλ
 
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2 -

6.52x10-7 
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456 
 
 
12X 
34 

56 
 
14610Aº 

 
 




1 
2 
310μm 
4X 
5He-Ne 
6 
7 
8 
9 

10 
11 
    1000V 

 
12 

λ 
1.6x10-19 J2λ 

6.4x10-19 J 
 


 
 
 
 
 
 
 
 
 
 
 
 

12 
34 
5 

20KV 
 
 

–3


 
1234 
567–8 
emf = -BLV Sin θ 


2



20132014

01285293228 37

 
12 
24– 
56 
15V 
1 

2 
3 


 

12 
34 
56 

 
1 
2 

 
123


 
 
 
 




1 
2
3
4
5
6

 
 

1 
2
3
4
5
 
 
 
 


 

1
t

I
emf

∆
∆= 2.022B = 10μI330 = 2πft

 
1 
2 

 
1

 
2
3





 
 

 
 
 

V
4Ω

2Ω

3Ω

2Ω

r =1Ω





20132014

01285293228 38

 
12V 
2mX .103 4 Ω−

34Kº
4   0.2H
5.102 5 JX −

 
1 
2
3
4

 
 
 

4


 
1 
2 
3 
4 
5 
 
 

12 
 


 

135 

246 
78 
 

 
120A5S
21.5 V
310

4115 .105 −−Ω mX
52345 
 
 
 
 


 
1 
2
3
4
 
1 
2
3
4 
5000Aº 
1234

7200Aº 


 
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01285293228 39

 
 
 
 
 
 
 
 
 

 
 

123 
456 
 
1234 
 


 
 
 
 
 
 


 
1 
2
3
4
5
6
7
 

 
1 
2
3
456

 
 
 
 
 
 
 
 

5


 
1 
2 
3 
4 
5 
 

123 
456 

18،306012v2
0.3 A30 


 
1x2 
BAIN Sinθτ 





20132014

01285293228 40

 

 
 
 
 


 

12 
 

110Ω23000Ω
30.2N\A.m42V 
56






 
5 
6
7
8
9

10
11
12
 
5 
6
7
8

9
 
––


 
 
 
 
 
 


 
 
 
 
 
 
 
 
 
 
 

 
1 
2 
3 
4 
5 
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